3.R1 Quadratics Review Questions (Spring 2019)-s19c2-p April 2, 2019

Are there any Homework Questions you would like to see on the board?

Last day's work: pp. 198-199 #1c, @c, 3, 4ab, 5-8 [11]
pp.202-203 #1-12,13-17,19-23
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) 505
Today's Homework Practice includes:
Review 3,{///Y,/é
p. 204 #1 -9 ‘5110{

HIGHLY RECOMMENDED
Worksheet on Class Website:
"Word Problems Involving Quadratics" #1 — 10

p.198 2. Determine the point(s) of intersection algebraically.
a) flx) = —x*+ 6x—5,g(x) = —4x + 19
b) f(x) = 2x* — 1,g(x) = 3x + 1
o flx) =3 —2x— 1L g(x) = —x—6
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p. 198

4. Determine the point(s) of intersection of each pair of functions.

3. f(x) = —2x2 — 5x + 20, g(x) = 6x — 1
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P-198  91. A quadraric function is defined by f(x) = 3x> + 4x — 2. A linear function
is defined by g(x) = mx — 5. What value(s) of the slope of the line would

make it a tangent to the parabola?

N biac=0 (1 oz
2
B 2
! 5 (L,//W\> “/(3>/37 =0
K#‘/X—W‘&#T:O )
3»3%(%755%3:0 [h-Bm pn7 =30 70
A= B:{/—m C:E W\Q\“\bw‘ 20 7P

(WVN)WW+%\YD
= owE e



3.R1 Quadratics Review Questions (Spring 2019)-s19c2-p April 2, 2019

P.202 3 Determine the equation of the axis of symmetry of the

parabola with points (—5, 3) and (3, 3) equally

(5
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distant from the vertex on either side of it.
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p.202 5. The height, /#(z), in metres, of the trajectory of a
football is given by 4(z) = 2 + 28¢ — 4.9¢7, where

t is the time in flight, in seconds. Determine the Z:,M /% U\@Lj@(

maximum height of the football and the time when

that height is reached.
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p-202 11, What is the perimeter of a right triangle with legs
6 cm and 3 cm? Leave your answer in simplest

radical form. é - L\

P=6+43 1),
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P.203 13, The population of a Canadian city is modelled by
P(r) = 12¢7 + 800z + 40 000, where ¢ is the time
in years. When 7z = 0, the year is 2007.
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P-203  14. A rectangular field with an area of 8000 m” is enclosed
by 400 m of fencing. Determine the dimensions of
the field to the nearest tenth of a metre.

X
w} ’4':80301443“
Y00 =0 41y A”ﬂw A
RN 00 = (300~
o3 =ag oo (000 g
QOO-C\F{ — AW
O = -L 7 Latow -3000
a=-/ L=200 <=-Roo0
)= —200% J 3003-4(~1)(Rowm
Q=)
< 00t J goo0
R
Sy ot Veece 200~ oo
- — Q
= SSa7 = ({73
(:§5~3 =
> (= Y00 -w /7[;62004/&
= _ &00\(C/C[¥
~ -
=557 ¢

OY% Uning ¢ /.
g Comple f\ i,
=~ Fatow -3000 7% S 1o soe N/ew/%

0= L™~ avow + 8000 %(ZEF
ac/rb()L;
= (Aﬁn&ww { /0000 - (0000 4 LovO ‘ M\

= (o=100)" 000
000 = (Lo -on)>

~+

—~\|Qoob = (W-/00

160 2000 w

W= 447 o W=ST.Y



3.R1 Quadratics Review Questions (Spring 2019)-s19c2-p April 2, 2019

p.203 15. The height, 4(z), of a projectile, in metres, can be
modelled by the equation /(z) = 14r — 5¢, where
¢ is the time in seconds after the projectile is released.
Can the projectile ever reach a height of 9 m?
Explain.
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p.203 16. Determine the values of # for which the function
f(x) = 4x> — 3x + 2kx + 1 has two zeros. Check

these values in the original equation.
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April 2, 2019

NOTE: DO NOT WORRY about this type of question, when there is a k2.

You will not be tested on this.
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P-203  17. Determine the break-even points of the profit

function P(x) = —2x* + 7x + 8, where x is the
number of dirt bikes produced, in thousands.
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p. 203 19. Describe the characteristics thar the members of the
family of parabolas f(x) = a(x + 3)* — 4 havein — u [, 2

common. Which member passes through the point

(—2,6)2
3 L6 =ala3)™ y

All members of the family of f{(x) above have the vertex ( - 3, - 4).
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p.203 20, An engineer is designing a parabolic arch. The arch
must be 15 m high, and 6 m wide at a height of 8 m.
a) Determine a quadratic function that satisfies

)

these conditions.
b) What is the width of the arch at its base?
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p.203 21. Calculate the point(s) of intersection of
f(x) = 2x* + 4x — 11 and g(x) = —3x + 4.
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Quadratics Review Dato:

1. For each function below state the direction of the opening,
the vertex, axis of symmetry, max or min value,
and the domain and range. Finally, sketch the function.

a) f(x)=-2(x—-5)"—-4 b) f(x)=2(x-3)(x+5)

T T T T T T T T T T | T T T T T T T T T T

-10)
-
-12)

T T T T T T T T T |
WWNDNNNN= 2y
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2. a) The height, 4(¢), in metres, of the tragectory of a football is
given by h(r) =2+ 28t —4.9¢* , where t is the time in flight,
in seconds. Determine the maximum height of the football
and the time when that height is reached.
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3. a) Determine the inverse of f(x)=-3(x—4)*+2

b) Graph £ (x) and £ (x) y
c) Is the inverse a function? ) i x
Explain using words. HTETE 4 20 5 a6 8 w0

d) State the domain and

range of f(x) and £~'(x)
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4. Express each radical in simplest radical form.

a) /93 b) —550 ©) 212 +4/48

5. Determine an expression in lowest terms for the perimeter

AND fth tangle.
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6. a) The height, /i(7) , of a projectile, in metres, can be modelled
by the equation h(t) =14t - 542 , where t is the time in seconds
after the projectile is released. Can the projectile ever reach a

height of 9 m? *vﬂcmw‘(mm%:ﬁme\/
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7. Determine the value(s) for £ for which the function has nonGots.
f(x)=3x"-4x+k
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8. Determine the equation of parabola that has roots /5 and _\/§
and goes through point (- 1 6) =05 S=-JT
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9.Solve 3x? —4x+2=0
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Are there any Homework Questions you would like to see on the board?

Last day's work: pp. 198-199 #1c, 2ac, 3, 4ab, 5-8 [11]

Today's Homework Practice includes:

Review
pp. 202-203 #1-12,13-17,19-23

HIGHLY RECOMMENDED
Worksheet on Class Website:
"Word Problems Involving Quadratics" #1 — 10
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